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QUESTION 1

Click the Exhibit button.

user@srx> show security flow session
Session ID: 11232, Policy name: Allow-ipv6-Telnet/11l, Timeout: 1788, valid
In: 2001:db8::1/57707 --> 2001:db8::8/23;tcp, Conn Tag: 0x0, If: vlan.101,
Pkts: 9, Bytes: 799,
Out: 10.8.8.8/23 -—> 10.7.7.5/21868;tcp, Conn Tag: 0x0, If: ge-0/0/2.0,
Pkts: 8, Bytes: 589,
Total sessions: 1

Which type of NAT is shown in the exhibit?
A. NAT46

B. NAT64

C. persistent NAT

D. DS-Lite

Correct Answer: B

QUESTION 2

Click the Exhibit button.

Trust Zone Untrust Zone

i

192.168.1.1/24 192.168.1.254/24 10.1.1.254/24 10.1.1.1/24

A user reports trouble when using SSH to a server outside your organization. The traffic traverses an SRX Series device
that is performing NAT and applying security policies.

Referring to the exhibit, which configuration will allow you to see the bidirectional flow through the SRX Series device?
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[edit security flow traceoptions]

file tracefile;

flag basic-datapath;

packet-filter MATCH-TRAFFIC-0UT {
source—-prefix 192.168.1.1/32;
destination—prefix 192.168.1.25b4/32;

}

packet-filter MATCH-TRAFFIC-IN {
source—prefix 10,.1.1.1/32%
destination-prefix 10.1.1.254./32;

}

B [edit security flow traceoptions]
file tracefile;
flag basic-datapath;
packet-filter MATCH-TRAFFIC-0OUT {
source—-ptefix 192,.168.1.1/32;
destination-prefix 19Z2.168.1.254/34;
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o [edit security flow traceoptions]
file tracefile;
flag basic-datapath;
packet-filter MATCH-TRAFFIC {
source-prefix 192.168.1.1/32;
destination-prefix 10.1.1.1/32;

D.
[edit security flow traceoptions]
file tracefile;
flag basic-datapath;
packet-filter MATCH-TRAFFIC-OQOUT [
source-prefix 192.168.1.1/32;
destination-prefix 10.1.1.1/32;
}
packet-filter MATCH-TRAFFIC-IN {
source-prefix 10.1.1.1/32;
destination-prefix 192.168.1.1./32;
}
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 3

What are two important functions of the Juniper Networks ATP Appliance solution? (Choose two.)
A. filtration

B. detection

C. statistics
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D. analytics
Correct Answer: BD

Reference: https://www.juniper.net/us/en/products-services/security/advanced-threat-prevention/

QUESTION 4

Your SRX Series device does not see the SYN packet. What is the default action in this scenario?
A. The device will forward the subsequent packets and the session will be established

B. The device will forward the subsequent packets and the session will not be established

C. The device will drop the subsequent packets and the session will not be established

D. The device will drop the subsequent packets and the session will be established

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-tcp-sessionchecks.html

QUESTION 5

You have noticed a high number of TCP-based attacks directed toward your primary edge device. You are asked to
configure the IDP feature on your SRX Series device to block this attack. Which two IDP attack objects would you
configure to solve this problem? (Choose two.)

A. Network

B. Signature

C. Protocol anomaly

D. host

Correct Answer: BC
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